3. HEFTHOBPEE

= 3% H ]
L N - -
BE 3 [E] A | FF M i )
IH | o - T - e -
- H pENE L I = E O 7 N L I = 7 BHEMR|E BN F
Bom OB OB O K 50 6 4 0 5 A 50 6 4
TEEE A D (A) 78, 000 41,000| 119, 000 79, 000 41,600| 120, 600 79, 000 41,600| 120, 600
g it 2, 259 1, 849 4, 108 978 693 1,671 [ £ G G
= () i
A1 18] X T A P (8 o (8 (8) - (8 ) ) ) 5 A (R
(ha) 298 298 298 298 jmatgin
) A
R (8) (8) (8) (8) " ) )
g 2, 557 1, 849 4, 406 1,276 693 1, 969
ik SRl EaN
HE 55 Vi = — GARITE=Y — — GARITE=Y — I I I
A A
() F7ik
(700) (700) (700) (700) (700) (700) \
BRI AT (A 59, 400 28, 300 87, 700 56, 200 15, 300 71, 500 56, 200 15, 300 71, 500 F§t§§t§j<95
) WA
H % 305 305 305
N | B &K 405 405 405
@ /A H) g | FEREK 610 610 610
HF K& 70 70 70
= (330) (330) (330) (330) (330) (330)
2t 5 Ak &5 iE 28, 220 13, 440 41, 660 26, 695 7, 268 33, 963 26, 695 7,268 33, 963
a1 H] {75 /K B= NSy
(H#&K) T % () ¥
(m®/ ) 560 4, 640 5, 200 422 4,116 4,538 422 4,116 4, 538 | XIS (R H
(1 FkZ ) (330) (330) (330) (330) (330) (330) |HETH) YA
&t 28, 780 18, 080 46, 860 27,117 11, 384 38, 501 27,117 11, 384 38, 501
238,900 =238, 900
() ¥7ix
- o e B (2, 880) (2, 880) (2, 880) +
LN ER R 107, 810 95, 706 95, 706 BRSNS
) A
s N _ o . TR METE MEYE e A FEAETEMEG e Ts
. Bir) o I - : JVEiz . . : (TVEI= \
woom oy | GRAIEIRAT O JEAS | B AT  THAR | AR X 7 7 i AR
> - % B b 2= 1k + 20 Al s % B i b 22 1 + 20 Al
WEEHE S (m?®/H) 47,200 (2 %&4) 43,600 (1.5 %%1) 43,600 (1.5 &%)
BOD 210 200 200
COD 120 120 120
AN = §
(ne/0 ) S S 170 170 170
T—N 41 41 41
T—P 5.8 6.0 6.0
BOD 10 (15) 10 (15) 10
it ] () Mz
e oK B T—N 15 15 15 PEAETE G
(mg/0 ) LD R KE
T—P 1.4 1.4 1.4
R/ PR B 4 R K PR Bt 4
& o e #E o X (BT84 & 4, 500m®) (AP88 & 4, 500m®) iR
RN/ Kt 10, 500m® RN 7K s kit 10, 500m®
1 1
Tk 37 HH B Tt Q=—-C-1 - A = 1« A
. MK HERE ER 260 260 I
g; W o= 5 4 5 4 "
B 5, 000 5, 000
7 G W N = -— "
] t+40 t+40
mwoom R K 0.50 ~ 0.70 0.50 ~ 0.70 I




